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( Core ) -
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The figures in the margin indicate full marks
for the questions

1. w5 Tecor R Sfeear - 1x6=6

Choose the correct answer :

(@) IS IFATHRT &0 (R

Present generation of computer is

(i)l PO o

3rd generation
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(2)

(ii) oY oEd

4th generation
(iii) 1% oS

S5th generation
(iv) S°[@A (I T

None of the above

FaeiRe @R T sife = 1Es 2

Which of the followiﬁg memories has the
highest speed? -

() M G
Cache memory

(i) G
RAM

ﬁﬁ)ﬁ.ﬁLi@ IR
CPU register

(iv) 9= 9z, fo.
SSD

( Continued )
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(3)

(c) @O FTHEPTHRY @ CAF @l 2T
9 =2

The inst_ructions in flowchart are
represented using

() I3
circle
(i) <O
box
(iii) TS
arrow

(iv) G
line

[d) FafiRe «Rew sfegfes g= [Fam 2792

What will be the value of the following
Python expression?

8 +4%7
i) 8
(i) 4
(i) 12

(iv) 7
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e) FafRS GFCH “M2= Hofet 2 2. ffiRe oMERT S i (R e =w0l) = 2x6=12
Which of the following is a Python tuple? Answer the following questions (any sty :
i) {45, 6} ' (@) 9. 97. 28.-7 IHEF I9641 F41 |
(i) 4,5 6] _ Describe the functions of ALU.
- (i) [] ' ; (b) TR S 72
What is debugging?
(u)} (4’ 5’ 6) at 1s depu £
& ] (c) @b GEer’Rew 52
=— () FERRe T Roie wtip 2 Whatasiania serithin’
What will be the output of the following : (d) B! IR TGS T FRATGI [ GPIBIG-
code snippet? < R |
x=10 ; Draw the flowchart to find the llarger
v =10 number between two numbers.
if (id(x)==id(y)); (e) ~IRITS CETFel FRo= 2 Twrser fian |
print("Hello”) What is lambda function in Python? Give
else : example.
print(“Hi”)

() REFe & 5 wnnRe SoeE 2

) B What are the datatypes available in
(iii) HelloHi (g9 Break W¥ Continue statementd Eq
) el foran |

(iv) Error

Differentiate = between Break and
Continue statement.

24P/487 ( Continued ) 24P/487 ( Turn Over )



(6)

RS epRe S o (R e wreb)

6x7=42

Answer the following QUestions {any seven) :

(@ BIA-S%H &S WF I/0I-f °ﬁﬁlﬁ i)

(b)

(c)

(@)

(e)

24P/487

10 ferdt |

Differentiate between top-down
approach and bottom-up approach.

GRS R AR <RI 47 |

Explain memory hierarchy system.

Rafee ’aNfiks w8 a4 |
Describe structured  programming

paradigm.

Tl I9Z[ IR R Gy @ Roface
BT #f1R 2 2 /FFIRET fordt |

Write a Python program /function to find
the sum of the list elements using loop.

95l Y[ SFT @15 [1RIA BT ~[13%
&S /TR fordt |

Write a Python program /function to find
the sum of the digits of a number.

<1 T AT 1 72y, A IR GOl o[f3e
22N /FIR5 fopa |
Write a Python program/function to

check whether a given number is prime
or not.

( Continued )

(7))

(g) <R T A ARG SIS <5 37 TR

(h)

()
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@51 SR &’ /FRe ol WE /e
oG TG O ATH TN SAE aﬁzma
2] 4l |

Write a Python program/function te
create a dictionary of employee name

and salary and store the information of
any five employees and display them.

qB1 2we A 2AfSCH X% SCED] FRIAA GO
SR 2 e /TG s |

Write é Python program/function to

‘reverse each word of a given line.

<1 Fige F{ifds ool Roifkata o1 2=

i e e RE R

Write a Python program/function to find
the maximum frequency word in a
string.
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